Cost Accounting      Quiz Chapter 17 / 18       Name_____________________________________

1. If there was no beginning work in process and no ending work in process under the weighted-average process costing method, the number of equivalent units for direct materials, if direct materials were added at the start of the process, would be:


A.  equal to the units started or transferred in


B.   equal to the units completed


C.   less than the units completed


D.  Both A and B are correct.

2. How do you account for the cost of abnormal spoilage?

3. How do you account for the cost of normal spoilage?

4. Activity-based costing has less applicability in a process-costing environment because:

A.  the use of activity-based costing makes the computational process more difficult

B.   the products tend to be similar and thus use the resources in a similar manner

C.   cost control in process costing is achieved by controlling the cost of the various processes rather than the individual activities

D.  Both B and C are correct.

5. Which of the following manufactured products would not use process costing?


A.  767 jet aircraft


B.  19-inch television sets


C.  Custom built houses


D.  Both A and C are correct.

6. An example of a business which would have no beginning or ending inventory but which could use process costing to compute unit costs would be a:

A.  clothing manufacturer.

B.  corporation whose sole business activity is processing the customer deposits of several banks.

C.  manufacturer of custom houses.

D.  manufacturer of large TVs.

7. LOFGREN Beverage, Inc. uses the weighted-average method of process costing.  Direct materials are added at the end of the process and conversion costs are added evenly throughout the process.  Consider the following data for the Bottling Department of LOFGREN for the month of June:

	
	Physical Units
	Direct Materials
	
	Conversion Costs
	

	WIP, June 1
	60,000
	$0
	
	$12,500
	

	Started or work done in Jan.
	7,515,000
	
	
	
	

	CTO
	
	
	
	
	

	Cost added in Jan.
	
	$750,000
	
	$1,803,700
	

	WIP, June 30
	75,000
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


June  1  degree of completion:    CC = 80%

June 30 degree of completion:    CC = 90%

Fill in the table below:  (in $)  [18 pts.]

	
	DM
	CC
	TOTAL

	CTO   


	
	
	

	E.WIP  


	
	
	

	TOTAL


	No points
	No points
	


8. During the period you produced 100,000 units total of which 485 units were spoiled.  You expected spoilage to average 0.5% of total units produced.  How many units would you record as “abnormal” spoilage?  [4 pts.]
1. If there was no beginning work in process and no ending work in process under the weighted-average process costing method, the number of equivalent units for direct materials, if direct materials were added at the start of the process, would be:


A.  equal to the units started or transferred in


B.   equal to the units completed


C.   less than the units completed


D.  Both A and B are correct.

2.  How do you account for the cost of abnormal spoilage?


Expense during the period discovered.

3. How do you account for the cost of normal spoilage?


Add equally to all good units that pass the inspection point.  Eventually is part of CoGS when units are sold.  For job costing, add to cost of job or through MOH if common to all jobs.

4. Activity-based costing has less applicability in a process-costing environment because:

A.  the use of activity-based costing makes the computational process more difficult

B.   the products tend to be similar and thus use the resources in a similar manner

C.   cost control in process costing is achieved by controlling the cost of the various processes rather than the individual activities

D.  Both B and C are correct.

5. Which of the following manufactured products would not use process costing?


A.  767 jet aircraft


B.  19-inch television sets


C.  Custom built houses


D.  Both A and C are correct.

6. An example of a business which would have no beginning or ending inventory but which could use process costing to compute unit costs would be a:

A.  clothing manufacturer.

B.  corporation whose sole business activity is processing the customer deposits of several banks.

C.  manufacturer of custom houses.

D.  manufacturer of large TVs.

7. LOFGREN Beverage, Inc. uses the weighted-average method of process costing.  Direct materials are added at the end of the process and conversion costs are added evenly throughout the process.  Consider the following data for the Bottling Department of LOFGREN for the month of June:

	
	Physical Units
	Direct Materials
	DM-eu
	Conversion Costs
	CC

eu

	WIP, June 1
	60,000
	$0
	0
	$12,500
	48,000

	Started or work done in Jan.
	7,515,000
	
	
	
	

	CTO
	7,500,000
	
	7,500,000
	
	7,500,000

	Cost added in Jan.
	
	$750,000
	
	$1,803,700
	

	WIP, June 30
	75,000
	
	0
	
	67,500

	
	
	
	
	
	

	
	
	
	7,500,000
	
	7,567,500

	
	
	
	$0.10 /eu
	
	$0.24/eu


June  1  degree of completion:    CC = 80%

June 30 degree of completion:    CC = 90%

Fill in the table below:  (in $)  [18 pts.]

	
	DM
	CC
	TOTAL

	CTO   

7,500,000 eu
	$750,000
	7.5M * $0.24  = 

$1,800,000
	$2,550,000

	E.WIP  

0 :  67,500 eu
	$0
	0.0675M * $0.24 =

$16,200
	$16,200

	TOTAL


	No points
	No points
	$2,566,200


8. During the period you produced 100,000 units total of which 485 units were spoiled.  You expected spoilage to average 0.5% of total units produced.  How many units would you record as “abnormal” spoilage?  [4 pts.]
Expected 500 spoiled units.  All spoiled units are normal (expected) spoilage!

Therefore, 485 – 500 =  0 units of abnormal spoilage!
Please note that “normal spoilage rates” are usually calculated as normal spoiled units divided by total GOOD units completed (not like you were told to calculate above).
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